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11 Make d the subject of the formula   
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 Answer d =    

    [3] 

 
 

12 Q = {2, 4, 6, 8, 10} and R = {5, 10, 15, 20}. 

 15 ∈  P,  n(P) = 1 and P ∩ Q = Ø. 

 

 Label each set and complete the Venn diagram to show this information. 

 

 

 

    [3]  
 

13 Solve the simultaneous equations. 
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 Answer x =     
 y =   [3] 
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8 Calculate the radius of a sphere with volume 1260 cm3

 . 

 [The volume, V, of a sphere with radius r is V = 

3

4

πr
3

.] 

 

 

 

 

 

 

 

 

 Answer  cm [3] 
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 AB is parallel to CD. 

 Calculate the value of x. 

 

 

 

 

 

 Answer x =   [3] 

 

 

10 Solve the simultaneous equations. 

 3x + y = 30 

 2x – 3y = 53 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

 y =   [3] 
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12 Solve the simultaneous equations. 

   x – 5y = 0 

 15x + 10y = 17 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

 y =   [3] 
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 The points P, Q and R lie on a circle, centre O. 

 TP and TQ are tangents to the circle. 

 Angle TPQ = 54°. 

 

 Calculate the value of 

 

 (a) x, 

 

 

 Answer(a) x =   [1] 

 

 (b) y, 

 

 

 Answer(b) y =   [1] 

 

 (c) z. 

 

 

 Answer(c) z =   [2] 
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7 (a) Find the value of x when   

x

27

24

18

=  . 

 

 Answer(a) x =   [1] 

 

 (b) Show that  

3

2

 ÷  1

6

1

  =  

7

4

. 

 Write down all the steps in your working. 

 

 Answer(b) 

 

 

 

 

 
 

 

 [2] 

 

 

8 Solve the simultaneous equations. 

 x + 2y = 3 

 2x – 3y = 13 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

 y =   [3] 

 

 

9 Eva invests $120 at a rate of 3% per year compound interest. 

 

 Calculate the total amount Eva has after 2 years. 

 Give your answer correct to 2 decimal places. 

 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 
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10 Shania invests $750 at a rate of 2
2

1

% per year simple interest. 

 Calculate the total amount Shania has after 5 years. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 

 

 

 

11 Solve the simultaneous equations. 

 3x + 5y = 24 

   x + 7y = 56 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer x =    

y =   [3] 
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1 Martha divides $240 between spending and saving in the ratio 

 

 spending : saving = 7 : 8 . 
 

 Calculate the amount Martha has for spending. 

 

 

 

 

 

 

 

 

 Answer $   [2] 

 

 

 

2 210 211 212 213 214 215 216 

 

 From the list of numbers, find 

 

 (a) a prime number, 

 

 

 Answer(a)   [1] 

 

 

 (b) a cube number. 

 

 

 

 Answer(b)   [1] 

 

 

 

3 Solve the simultaneous equations. 

 x + 5y = 22 

 x + 3y = 12 

 

 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

 y =   [2] 
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9 Johan invested $600 for 3 years at 4% per year compound interest. 

 

 Calculate the final amount he had after three years. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 

 

 

 

10 Solve the simultaneous equations    2x + y = 5    and     2y = x – 10. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

 y =   [3] 
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15 Find the equation of the straight line which passes through the points (0, 8) and (3, 2). 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer   [3] 

 

 

16 

i

hg

=

2

 

 

 Find i in terms of g and h. 

 

 

 

 

 

 

 

 

 

 Answer i =   [3] 

 

 

 

17 Solve the simultaneous equations. 

     5x – y = – 10 

    x + 2y = 9 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

 y =   [3] 

 

 


